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QUESTION 1

What are three changes that could result in a Network rollback operation? (Choose three.)
A. Blocking all ports in a Virtual Machine Portgroup.

B. Changing the MTU of a distributed switch.

C. Updating the VLAN of the management VMkernel network adapter.

D. Disconnecting the cable from the physical NIC.

E. Changing the IP settings of management VMkernel network adapters.

Correct Answer: BCE

QUESTION 2

Which scenario shows a reason for VMware Tools failing to install?

A. Virtual machine has a CD-ROM configured.

B. Guest OS Antivirus is blocking the VMware Tools installation.

C. Guest OS has 64-bit Idd (list dynamic dependencies) utility installed.
D. Virtual machine is powered on.

Correct Answer: B

One of the reasons for VMware tools to fail during installation is that the Guest OS antivirus is blocking the installation
thinking it is a malware.

Reference: https://www.vmware.com/pdf/vmware-tools-installation-configuration.pdf

QUESTION 3

What must be enabled to ensure that VM Component Protection (VMCP) works in a High Availability cluster?
A. VMware Tools Virtual Machine Communication Interface (VMCI)

B. Fault Tolerance

C. Atomic Test and Set (ATS)

D. All Paths Down (APD) Timeout

Correct Answer: D

There are two types of datastore accessibility failure:
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PDL (Permanent Device Loss) is an unrecoverable loss of accessibility that occurs when a storage device reports the
datastore is no longer accessible by the host. This condition cannot be reverted without powering off virtual machines.

APD (All Paths Down) represents a transient or unknown accessibility loss or any other unidentified delay in I/O
processing. This type of accessibility issue is recoverable.

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.avail.doc% 2FGUID-
FO1F7EB8-FF9D-45E2-A093-5F56A788D027.html

QUESTION 4

An administrator is monitoring a High Availability (HA) and Distributed Resource Scheduler (DRS) enabled cluster and
has noticed that virtual machines in the cluster are being migrated without user intervention.

Why is this happening?

A. The DRS Automation level is set to Fully Automated.
B. The Automation level is set to Automatic.

C. The DPM Threshold is set to Aggressive.

D. The Power Management feature is configured.
Correct Answer: A

When the DRS automation level is set to filly automated, virtual machines in the cluster might be migrated without user
intervention. Reference:http://www.uf-it.eu/Datenblaetter/\VVMware%20vsphere%?20evaluators%20guide.pdf

QUESTION 5

Which two actions are prerequisites to adding ESXi 6.x hosts to a vSphere Distributed Switch? (Choose two.)
A. Verify that there is at least one Distributed Port Group on the Distributed Switch.

B. Verify that the Distributed Port Group have active uplinks configured in its teaming and failover policy.
C. Verify that the Distributed Switch has been configured with a Network Profile.

D. Verify that Network I/O control for Management Traffic is configured for the highest share value.
Correct Answer: AB

To manage the networking of your vSphere environment by using a vSphere Distributed Switch, you must
associate hosts with the switch. You connect the physical NICs, VMkernel adapters, and virtual machine
network adapters of the hosts to the distributed switch.

Prerequisites

Verify that enough uplinks are available on the distributed switch to assign to the physical NICs that you
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want to connect to the switch.
Verify that there is at least one distributed port group on the distributed switch.

Verify that the distributed port group have active uplinks configured in its teaming and failover policy.

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%

2Fcom.vmware.vsphere.networking.doc%2FGUID-E90C1B0D-82CB-4A3D-BE1B-OFDCD6575725.html
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